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WHE 9l ME RSARUZQ)
2021.09-2022.8.csv

S PN R XY O NN -G R WL N 1 U N0 NSO O G N, . WO N P s o . Y .
1 71220 AZF5¥YSZESUE 0 ST0M 2 SAHO0MS SAHSAIS SAR0415 SAR5K15 SAI30M15 HA35H 5 5 AH0H § S AH45H § ERHS0M| 5 EAE55M S SAT60AS S AH65A15 HAH0KIC Of
2 | 20220701 0 11740560 2084692 8189991 6074987 6014973 4585558 478.6953 5753735 1091144 1014927 978822 7429481 7486997 614.0803 510.2689 897.8104 €
3 20220701 0 11320681 1573686 638.648 427.2095 5430753 3873929 406.7258 364.034 4943973 4947818 6158506 511.0161 5920851 5784705 437.584 7020027 S
4 120220701 0 11710642 3348493 590556 2591215 5476122 1168076 1615732 2020594 2413037 1887796 1647.669 1342768 1161122 8137878 503731 915.144 7
5 :20220701 0 11215820 26227.69 556.0031 339.0859 6703329 1095811 1373.887 1309.099 1161856 974.1694 1122848 903.9356 9674039 7025611 440.7484 806.9366 S
6 | 20220701 0 11230545 3194847 8908261 4256721 690.1825 1868861 1681.842 980.2639 1048.625 936.8349 1231.642 1075202 1191.264 1025975 681.6339 1817.037 €
7 :20220701 0 11305535 21858.19 4739707 317.9279 399.3278 776.1494 108398 7662338 7812226 7149609 8291413 820.1427 969.0444 731.0489 5155106 1237.815 32
8 120220701 0 11470630 1602844 605.2261 671.1383 809.8076 412.1786 372.6215 3336625 4262528 5050435 8985863 681539 51445 4397527 301315 5474015 €
9 :20220701 0 11620715 13055.54 6036797 296.3384 2850938 3129589 297517 338.351 4073007 600.7909 663.8674 5659704 489.7952 3894752 2742371 567.9462
10 1 20220701 0 11620545 14918.15 769.7954 302.5165 3545595 339.2432 443.105 5726252 665.5354 606.8998 6162775 499.0234 5069844 351.1844 2788126 7202959 7
11 :20220701 0 11230610 2503589 8143467 409.9155 4944086 4951438 776.5582 894.5877 1139174 1007.257 107636 937.1564 967.2608 803856 6674834 1184.762 €
12 1 20220701 0 11410615 3994436 860867 566.1178 9858873 23118 2491.634 1538707 163428 1457.072 1447346 1283024 1123529 8429953 621.3823 1422904 ¢
13 :20220701 0 11140625 1493529 4204224 2322532 2754936 4756294 629.1724 571.561 7174076 6259006 5482471 5659691 508.1095 3722585 305.6039 7663169 S
14 1 20220701 0 11350640 278717 757.0149 516.5222 8792152 1183494 1017497 8939237 852963 8449127 1047194 1051.237 1058.803 8974165 7183282 1260.95 ¢
151 20220701 0 11350665 2315001 566.9407 3781873 619.3974 6059238 6014315 544.0423 7905962 6633575 914408 869.5632 1003332 913932 7036754 1527.562 €
16 | 20220701 0 11470610 4093883 1430094 935064 1050827 67.9024 1264013 1429756 2294077 1585143 1883609 1374879 1621214 1363723 914491 179.0089
17 1 20220701 0 11530720 2240107 7456206 448.1871 6484655 7885061 8342119 6953831 7632442 0804918 976345 8533943  786.15 679.2452 530.3604 1080.814 ¢
18 | 20220701 0 11545700 1401243 4939542 2690105 3365935 3152473 517.0052 472782 600.1166 5029756 5094879 537391 5121444 446868 3984557 676.1636 4
19 1 20220701 0 11590060 4354327 1049.581 8068112 1374.524 1638983 1833396 1750288 1699.816 1679.502 1908.253 1759495 1442492 988.2806 8113554 1676633 1
20 1 20220701 0 11470680 2243369 1022554 788.5579 8331208 5360752 524.8319 370.1251 598.1981 8350927 1086918 8706324 8012253 6729782 5231987 1017.066
21 20220701 0 11680580 20177.33 4736908 278.7421 560.2827 5651262 8724894 1079.187 1304.179 1340332 1390961 886.014 7403714 490.1085 3171281 531.5663 4
22 1 20220701 0 11260660 14366.95 4345354 222.7186 2764577 4137648 453.5824 4129123 4813834 527.9311 5555819 590.2846 650456 6545057 394.5905 866.8251 2
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3c M= Al =8 =k = == IEE
111051500 |[MEEEA E—— Ho SIS 37.5840009 126.970626 |H
" 37053000 = === E= 37.575408 [126.965944 [H
111052000 = A == =SHE=E 37.590758 [126.920995 |H
" 111055000 =4 === o= 57.504768 |126.965574 |H
S 1110568000 = A ==3 HEE 37.813029 [126.974485 |H
" 171057000 =4 === Dors 57577110 |126.958562 |H
" 37052000 =4 === o= 37.568547 |126.964454 [H
" 111060000 HA EES “t=lE 37.5826882 [1256.984831 H
111061500 B Al =EES EE=1.2347S 37.5T70962 126.977381 H
1111063000 B Al =EES EEs567H= 37.573681 127.009292 |H
111064000 B Al SEF o)== 3IT.5T7T7245 127.005622 |H
"> 065000 =4 === A== 37.587817 [127.001745 |H
" 111067000 = A == ZHHHNES 37573172 126979220 |H
111068000 =24 == A= 37573172 [126.979220 |H
" 37069000 = === A A= 37.573172 [126.972220 |H
S 111070000 = A ==3 s R 37573172 [126.979220 |H
111071000 EXEEN == =CiHz= 37.573172 [126.979220 [H
" 312052000 =4 == === 37.564072 [126.980046 |H
" 114054000 =4 == B 37.557288 [126.979369 |H
114055000 = A =3 H= 37.560029 126.985806 |H
114057000 = A =3 == 37.560148 [126.995572 |H
" i12058000 = == == 37.561912 [127.007818 |H
" 112050000 = A == orel= 37.564445 [127.005023 |H
" 312060500 =4 == =r == 37.566690 [126.991319 [H
" 114061500 == == s 37.557913 [127.013655 |H
114062500 = A =7 Ciit=E 37.554398 [127.002155 |H
" 114063500 = == e 37.552459 [127.008973 |H
114064500 EEN =z A= 3I7.357074 [127.004616 |H
114065000 = A =] AR5 = 37.5637e0 [126.997459 |H
" 112086500 = A == =51= 37.560042 [127.01939% |H
114067000 EE =7 =Er= 37.5688542 [127.020827 |H
1114068000 =S==4 =] =EEE= 37.558842 [M126.966320 |H
117051000 ==4 = == 37.549901 [126.980613 [H
117052000 =N [N —] 2427 37. 542884 [126.985008 |H
S 117053000 == 4 = A3 =32= 37542865 [128.973353 |H
M117055500 EEA| 4 HIE 37.545502 126969399 |H
" 3705000 =4 =ar S==m= 37.532612 [126.990182 |H
[117057000 [MEEEA e SE==M2s 37.532612 [126.990182 [H
117058000 [MESEEA e === 37.542828 [126.960951 |[H
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M2 W E=EUA.csv

4 A B . § A D . E L e L6 | H | L | J
1 |LABEL-1 LABEL-2 LABEL-3 LABEL-4 LABEL-5
2 | DHTNS eV Hg ZHT SRE 470 AHAS ZMT 523 070-8924-8126
3 Be3amz Zasw N M7 322432 24 RIHAS ZHT ST 02-2603-8456
4 (FEEEOE LzeHx N M7 322642 98 MM BN 51 02-511-2612
5 048E HEemE Hg 247 280272 195 RS ZMT 8128 02-2699-6470
6 Ol0|7|ZES SRR Hg 2H7 28012652 2 RHMg 2MT EHS 02-835-2348
7 @YD AH HEeAE Hg ZMT SE21382 9 RHAS ZMT 8124 02-2606-4007
g HYUMA LEERH % NEg ZMT ZM210Z 158 X#Ag ZHT 2432 02-2603-5759
g EEYo|E HEeAE Hg 24T 230272 83-1 RHAS ZMT 8122 02-2644-2935
10 OfAR LEEHE Mg ZMT ZEHYZ50Z 33 X#Mg ZHT 2434 02-2608-6258
11 4E7|ZE HEeAE Hg UHT 2EZUNRTZ 2 AHMg YHT 25 (02-843-5867
1 #Z7|ZE SRR Hg 727 89272 16 AHMg 727 245 02-2649-7237
13 YEEszRrEy unEENE Mg SBI ZA23Z 12 Mg SBT FAS 02-303-465
14 YAEHHL LEENY Ng 3123 1H216Z 48-20 XHME 121 281 (2-2617-8067
15 B47|ZE LHEEHE MNgOHE Het211Z 9 Mg OlEE 58 070-4742-4499
16 HEAIH A Hg LHT SAZ 265 R¥Mg BT SAS 02-2644-8114
17 |2EMY e Hg 2E3 Q22 131 K#Ae SR X5 02-388-3755
18 KLEHY HEEHE g 2%7 222z 13 R#hg 2ET 2UE 02-2277-7290
BIGENTS e Hg YHT 2EL247 6-3 K¥Mg QHT N7 070-7808-7075
20 2etad e Hg OtE7 22252 29 RI#AE OHET 2ot 02-325-0022
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inport pandas as pd
inport os

interseting = pd. read_excel (" /content /drive/MyDr ive/DATAS interest ing, xlsx", engine="openpyxl ')
coordinate = pd. read_excel ("/content /dr ive/MyOr ive/DATA/coordinate. x| sx", engine="openpyxl ')
#1 coordinate HA TIZE =9 MZ0t 12 MAEICH 22 = I0IEE dropdiCh
index_seoul = coordinatelcoordinate[' AT '1==" HZEZA'] . index

coordinate = coordinate. loclindex_seoul, 1]

coordinate. drop( [ ZEEF", Gt5'], axis= |, inplace = Trug)

def data_control (x):
#2 popl 7 csv DIEE S CI0IE EME SCH popl 7 IFEE £ 20, colunS0l 22HM SHFCH reset_indexi )&+ =5 JIE
X = x.reset_index()
x.dron('@I}?DM\OIQ@J%"'?—.— . axis = 1, inplace = True)
x.coluns = ['2IZZID, CARIHRE, '#ESDS, EMEOIRS, LY SE I MR
CITHOM SR 14 M2, HIHEH SE 19 E2 R, LA20H SR BE2I R,
CEITIEH R E 20 M2, RO PE MM A E R, AL SE I MR,
SIRHOH SR 44 M| 2, TR SEAGM M E2 R, TR0 SES B ERI R,
SIS SR MR, A SEEIMAE R, A SEEIH A ER ", ARO[ A M ER R,
AHHSEITH A Z R, WAHOH SE 4B ZRI 22, HAHEHSE G M ER 22,
O RRZOM S E 24 M1 22, AZEM SE 2O M E2 2=, (AL0H SE 3 B Z2I R,
F
i
H

O AFEH R IO M2, RO SE MM A E2 R, (A SE 4G M ERI R,

‘O AISOM SE B M2, (AR SEBIH A E2 P, A0 SEG4H ME 22,

‘O AHEEM SE GO M2 2, AROM O M ER 2]
#3 popl 7 csv TF2L coordinateE BHZE TSE Edl nergeE ATHADE ZIAIZUCH GIOEE =215 20t coordinate ZEMHE popl
[HEZETE] = x['HEZDE] aonlvllanbda x ¢ %+ 100 )

#4 neroegf=2 2F datafranel JIEE T, popl Tl coordinateE ZEAIFCH
wnew = wnergelcoordinate, left_on = "@EEIS", rignt_on="DE=", how = 'Ieft’)

#5 pol _Tili= QA2 coordinate CIOIEINE Sl= #AE D=0 EMECH 24 ARIGER =2
x_new. dropnalaxis = 0, inplace = Trug)

ret
[IE3

HEZ DO QIO 2EEICH Jeh A

# 2= HoHE AHED ?‘* PE“E EE% AT,
x_new‘droo(columns = ['#EZ3E", i A DIEZI, axis = 1, inplace = Trug)
wnew = wnew. groupby( [ AIZ S SEE RS ET A EET) neanl )

FetLrn X_new

npopl _7 = data_control (pd. read_csv( " /content /dr ive/MyDr ive/DATA /ponl 7. csu"))
nopl_fi = data_control (pd. read_csv(" /content /dr ive/MyDr ive/DATA/ponl B, czv™))
nopl _f = data_control (pd. read_csv(" /content /dr ive/MyDr ive/DATA/ponl 5. cav™))
nopl_4 = data_control (pd. read_csv( " /content /dr ive/MyDr ive/DATA/ponl 4. czv™))

>> ré-g- BA T E||O| E'I
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ARIMA (Auto-Regressive Integrated Moving Average) &2 79| &= 2t}
RAIE AMESM x| AAE 24t2 HAHESt= ARMA(Auto-regressive Moving
Average) R3S uID} oF o=,
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ARIMA (Auto-Regressive Integrated Moving Average)

[ 1 from pndarima.arima Import auto_arima

[ 1 import tine
start = time. tinel)

auto_arima_nodel = auto_arimaly_hat_log, start_p =1, start_g =1, max_p = 3, max_g = 3, m =30,
seasonal = True, o = 0, max_d =1, D =1, max_P=3, max_0 = 3, trace= True,
error_action = 'ignore’, suppress_warnings = True, stepwise = False)

print("time ", time.time(}) - start)
print (aut o_ar ima_model . summary())
ARIMACT,D,1001,1,23[30] intercept @ AlC=inf, Time=17.08 sec
ARIMACT,O,1002,1,00[30] intercept PAIC=-1Y1.017, Time=15.04 sec
ARIMACT, 01302, 1, 10[30] intercept CAlC=inf, Time=18.69 sec
ARIMACT,0,1303,1,00[30] intercept CAIC=-174.111, Time=36.64 sec
ARIMACT,0,2)(0,1,00[30] intercept CoAIC=-129.718, Tine=2.12 sec
BRIMACT,0,2100,1. 1103001 intercept CAIC=inf, Time=E.t
ARIMACT,D0,20(0,1,2)[30] intercept : AlC=inf, Time=18.
ARIMACT,0,2301,1,00[30] intercept CoAlC=-160.058, Tin
BRIMACT,0,2101,1, 1003001 intercept CAIC=inf, Time=7.:
ARIMACT,0,2102,1.00[30] intercept CoAIC=-170.441, Tin
ARIMACT,0,30(0,1,00[30] intercept oAIC=-127.8058, Tin 6000
BRIMACT. 0, 37001120300 intercent CAIC=inf, Time=2.:
ARIMACT,0,3301,.1,00[30] intercept toAlC=-158.6508, Tin
ARIMACZ,0,00(0,1,00[30] intercept oAIC=-107.970, Tin
BRIMACZ.0,0000,1,12030]1 intercent CAIC=inf, Time=5.:
BRIMACZ,0,0100,1, 223001 intercept CAIC=inf, Time=14.
ARIMACZ,0,00(0,1,32[30] intercept AlC=int, Time=34.
ARIMACZ,0,0001,1,00[30] intercept DAIC=-153.740, Tin 60000
BRIMACZ, 0,0001,1, 1203001 intercent CAIC=inf, Time=G.t
ARIMACZ,0,0001,1,22[30] intercept AlC=int, Time=I16.
ARIMACZ,0,00(2,1,00[30] intercept CohlC=-132.789, Tin
BRIMACZ.0,0002,1.12[30] intercent CAIC=inf, Time=19.
ARIMACZ,0,00(3,1,00[30] intercept : AlC=inf, Time=29.
BRIMACZ,0,13(0,1,00[30] intercept oAIC=-128.738, Tin
ARIMACZ,0,1)(0,1,1)[30] intercept  © AlC=inf, Tine=g.r 5000
ARIMACZ, 01300, 1,22 [30] intercent CoAlC=inf, Time=18.
ARIMACZ,0,1301,1,00[30] intercept toAIC=-158.956, Tin
BRIMACZ.0,1301,1, 100300 intercent CAIC=inf, Time=G.C
ARIMACZ. 011021, 00[30] intercept CAIC=-170.089, Tin
ARIMACZ,0,2)(0,1,00[30] intercept oAlC=-128.059, Tin
BRIMACZ.0,2700,1. 1703001 intercent CAIC=int, Time=8.7  go00
BRIMACZ.0,2101,1,00[30] intercept D OAIC=—-159.847, Tin
ARIMACZ,0,30(0,1,00[30] intercept : AIC=—-147.464, Tin

45000

2022-06-01 2022-06-05 222-06-09 222-06-13 222-06-17 2022-06-21 2022-06-25 2022-06-2822-07-01
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LSTM (Long Short Term M
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LSTM(Long Short-Term Memory)

[10] from tensorflow inport keras
from keras. layers inport Dropout
inport tensorflow as tf
epochs = 40
batch = 256
Ir = 0.002
adan = tf.optinizers. Adani|r)
medel _lstn = Seauent ial ()
model _lstm. add(LSTM{units=50, drepout = 0.3, return_sequences = True, input_shape=(¥_train_pr.shape(1], X_train_pr. shape[?11))
model _lstn,add(LSTH{units = 100, activation='relu', dropout=0.3))
medel _lstn, add(Denzel 1)
nodel _lstm. conpi el loss = ‘nse’, optimizer = adam)

WARMING: tensorflow: Laver Istn_1 will not use cuDMN kernels since it doesn't meet the criteria. It will use a weneric GPU kernel as fallback when running on GPU.

[11] Istm = model _Istm. fit(X_train_pr, w_tr, validation_data = (¥_valid_pr. v_val). epochs=30, werbose = 2)

Epoch 1430

165/165 - 17s - losst 26,6640 - val_loss: 0.0615 - 17s/epoch - 103ns/step
Epoch 2430

165/165 — 95 - loss: 0.1476 - val_loss: 01006 - 9s/epoch — Sdns/step
Epoch 3/30

165/165 - 95 - loss: 0.0750 - val_loss: 0.0575 - 9s/epoch - Sdns/step
Epoch 4430

165/165 - 85 - loss: 0.0565 - val_loss: 0.2192 - 9s/epoch - 53ns/step
Epoch 5/30

165/165 - 85 - loss: 0.0604 - val_loss: 0.0917 - 8s/epoch - Sons/step
Epoch 6/30

165/165 - 95 - loss: 0.0441 - val_loss: 0.0753 - 9s/epoch - Sdns/step
Epoch 7430

165/165 - 95 - loss: 0.0MB6 - val_loss: 0.1008 - 9s/epoch - S6ns/step
Epoch 8/30

165/165 - 85 - loss: 0.0398 - val_loss: 0.0889 - Ss/epoch - Sdns/step
Epoch 9430

165/165 - 85 - loss: 0.0431 - val_loss: 0.0500 - 8s/epoch - 53ns/step
Epoch 10/30

165/165 = 95 - loss: 0.0431 - val_loss: 0.0551 - 9s/epoch - Bdns/step
Epoch 11/30

165/165 = 85 - loss: 0.0416 - val_loss: 0.0576 - s/epoch - Sdns/step
Epoch 12/30

165/165 - 85 - loss: 0.0383 - val_loss: 0.0518 - Bs/epoch - Sons/step
Frimeh 13770
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b

Q170 MH|A

%7 70 gRS S AU THLE So) T SUSY A2 19 A4S JMOE 3B 9L AT FARL 5 9
Mg 93 gole BN 2U 2021.00 ~ 2022.089] FEIT HoleE S o 2 AT gL ch.
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SEA A

HOME H_MAP FAMEA T o1 gy

HE A5 A 349 ESES
37 BIG EVENT A3 nErZE Sept. 22, 2022, 4:56 p.m. 16
36 171 M4 $ee] B reged Sept. 22, 2022, 4:54 pm. 11
35 LEUEYHEME(QA HA L BE) paxgift Sepr, 22, 2022, 4:53 p.m. 7
34 ZHAH|UP BHEE T2 S ER= U Sept. 22, 2022, 4:50 p.m. 8
33 Hg*eA* e ARLHE TAIY Sepr. 22, 2022, 4:48 p.m. 11
32 (L5 A2 7R E 60004 Faols Sept. 22, 2022, 4145 p.m, 9
31 =748 Sept, 22, 2022, 4:42 p.m. 16
30 oge] F3AE Haj7a|!! Q17| ZE Sept, 22, 2022, 4141 pm, 5
29 HAEED Her SeEnsd Sept. 22, 2022, 4:39 p.m. 15

28 9% Best AFEE BY7ZE Sepr, 22, 2022, 4:35 p.m, 7
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